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(2= HE2A|ZHE) 19 33
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SEX| H2A|ZHE) 274 243
gt - -
472, Thelm) | 2X|(10.0x40.0x4.4) 1X|
H2A|ZHA|ZH 31 3.0
ESFSPN Etﬂ$6+°(m3/m2/°') 313 35.3
ojEFE(M/m/Y) 446 250
S| e - -
W47, THelim) 4X|(7.0x7.5) 2%|
Of b =501t =501t
of I} X| of It = (m/Y) 119 133
M| A HEMAE+ N A HHEM A+ M A
AM A= (2]/Y) 12//3Y 13]/3
ol A AEHTF KOLHAMLIES | XOFEALMLUEE
A= Z=Q!2k(ppm) 0.1~4.0 1.0~16
N4, TQm) | 2X[(7.7x15.7x4.0)
X
M FAIZHAIZE 0.93 1.66
HiZEX2lAld | A 0|22 kg/Y) - -
7|EFE =AY - -
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N4, EHelm)

1X](2.0x6.4x3.5)

7 1X|(2.0%3.2x3.5)
(Z3}x])
H2A|ZHE) 1.5 22.6
Na=(#4, THelm) - -
SR HFAIZHE) - -
93t - -
N4 (FA, THim) 3X|(5.5%29.7x3.9) 2K
HFA|ZHAIZH 8.0 10.7
AT HEHESE(mY/m’/Y) 5~10 8.7
dofEZ M /m/Y) 0.30| 3} 0.046
E7|Abet - -
(A, THim) 10%|(8.5%12.5) 6X|
Of ek e 20 1t S
Of | Of Ih & (m/ ) 4~5 4.5
= PUESE T QAL QAL
M A 2l4=(3]/Y) - -
oA 2ENBE XIOfHAALLEE | AJOIYLMLIES
=S Z= 012k (ppm) - 1.0~15
PSRN it A, ERm) 217;<||((181.é7xx115?é6xx:b(§) 2XI/1R
M2 A|ZHA|ZH 6~12 16.8

Hi E =X 2| Al

S 0| 2% (kg/E)
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